Global Economic Environment of the Firm

Macro Economics

The questions should be answered using Macro Economic arguments using graduate level thinking. Please pay attention to the questions asked. More detail, the better.

Question 3: Monetary Policy and Exchange Rate Regimes 

A decline without parallel
Feb 28th 2002 | BUENOS AIRES 
From The Economist print edition

In the 1990s, Argentina was Latin America's star. How did it become a basket case? 

EACH Sunday afternoon for the past few weeks, several thousand people have gathered in a public park, they roar their disapproval of politicians. “Kick them all out, not a single one should stay,” they chant.
The past few weeks have seen Argentina default on its $155 billion public debt, the largest such default by any country in history. After a decade in which the peso was fixed by law at parity with the dollar, Mr Duhalde had little choice but to devalue and then float the currency. Already, the peso is trading at under two to the dollar; it may well weaken further. Because most savings, loans and contracts were in dollars, the devaluation has added to the financial chaos. Since December 1st, savings accounts have been frozen. Dollar savings have been turned into devalued pesos. Depositors also face restrictions on how much they can withdraw from current accounts. In January, the banks were closed for all but half a dozen days. The economy has ground almost to a halt, as the chain of payments between consumers, businesses and suppliers has broken down.

 Even if Mr Duhalde succeeds in putting together a coherent recovery programme, the cost of the collapse is huge. The government reckons that GDP will contract by 4.9% this year; independent economists think it could shrink by up to twice as much. That comes on top of a recession that has now lasted for nearly four years. At the current exchange rate, income per person in dollar terms has shrunk from around $7,000 to just $3,500, or less than Brazil's. Unemployment has risen to perhaps 25%; in the cities, 44% of the population are now officially poor, with an income of less than 120 pesos per month. And there is a deeper cost. By seizing its citizens' savings, the government has broken a basic contract, and violated the rule of law. 

Internal rigidity, external shocks

So how did it all end so badly? For some economists, the answer starts with the currency board itself. Pedro Lacoste, an Argentine economic consultant, argues that the assumption behind the scheme was that “globalization was unstoppable”. 

But then came four external shocks. Prices for Argentina's commodities stopped rising; the cost of capital for emerging economies began to go up; the dollar appreciated against other currencies; and Brazil, Argentina's main trading partner, devalued. The rigidity of the currency board made it difficult to respond to these shocks. In mid-1998, Argentine officials confidently told visitors that the economy would grow at 6% per year indefinitely—just as it was slipping into a grinding recession from which it has yet to emerge. Three years later, with no growth and no prospect of growth, investors finally realised that Argentina's debt might be unpayable. 



***********************************************

Questions: The article argues that, ``the rigidity of the currency board made it difficult to respond to these shocks.”  You should think of the currency board simply as a fixed exchange rate regime.

(i) What are the restrictions that the currency board imposes on economic policy, which makes it difficult to respond to external shocks?  
(ii) If Argentina was not on a currency board what could it have done to respond to the external shocks of rising cost of capital, and the fact that Brazil, Argentina’s main trading partner had devalued its currency?   
********************************************************************

